Function Operations
Function notation review:
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Notation: 
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 Given the functions find (f + g)(x) and (f – g)(x).
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What is:
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Here are the graphs of the functions given:
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Using the graphs, determine:
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In the graph below f is the line and g is the absolute value graph. 
Sketch (f + g)(x) 





Sketch (f – g)(x)
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Students at the school decide they are going to sell t-shirts as a fund raising activity. If their fixed costs are $250, the cost per t-shirt is $4, and they intend to sell shirts for $10 per shirt,

a) Write an equation for cost (C), revenue (R), and profit (P)

b) How many t-shirts do they need to sell to make a profit?

c) What is the domain and range of the functions in this problem?

Test Yourself:
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find: 
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Graph
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 (f is shown in blue)
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Notation: 
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Find 
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With each swing a pendulum loses 3% of its amplitude due to friction. If the amplitude can be modelled by 
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 without friction, create a function to model the actual amplitude of the pendulum. How long will it be before the pendulum’s amplitude is less than 12ft?
Test Yourself:
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[image: image38.wmf](

)

x

g

f

÷

÷

ø

ö

ç

ç

è

æ

 and state its domain and range:
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find 
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 and state its domain and range:

Function Composition

Defining Composite Functions: 
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Read as: 

Ex.
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Consider the functions 
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What is the domain and range of 
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Use the graph to compute the following values (f shown above g):

a. [image: image88.png]
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The 2005 Dodge Durango 5.9L SUV has a city driving gasoline mileage rating of approximately 0.2 L/km.  
The cost of gasoline is $1.45/L.

a) Write the volume of fuel used as a function of the distance driven

b) Write the cost of fuel as a function of the volume

c) Create a composition function to give the cost as a function of distance.

*A small preview…
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Test Yourself:
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Find:
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Determine the composition and its domain and range:


[image: image80.wmf](

)

x

x

f

=




[image: image81.wmf](

)

x

x

g

cos

=




[image: image82.wmf](

)

(

)

x

g

f




[image: image83.wmf](

)

(

)

x

f

g



[image: image84.wmf](

)

9

+

=

x

x

f




[image: image85.wmf](

)

8

2

2

-

+

=

x

x

x

g



[image: image86.wmf](

)

(

)

x

g

f




[image: image87.wmf](

)

(

)

x

f

g


_1573282268.unknown

_1573289134.unknown

_1573289142.unknown

_1573296829.unknown

_1573299344.unknown

_1573561751.unknown

_1573561752.unknown

_1573299780.unknown

_1573299823.unknown

_1573299844.unknown

_1573299788.unknown

_1573299360.unknown

_1573299237.unknown

_1573299249.unknown

_1573299292.unknown

_1573299298.unknown

_1573299258.unknown

_1573297123.unknown

_1573297185.unknown

_1573298676.unknown

_1573298689.unknown

_1573297200.unknown

_1573297171.unknown

_1573297007.unknown

_1573289147.unknown

_1573289149.unknown

_1573289153.unknown

_1573289154.unknown

_1573289155.unknown

_1573289151.unknown

_1573289148.unknown

_1573289144.unknown

_1573289145.unknown

_1573289143.unknown

_1573289138.unknown

_1573289140.unknown

_1573289141.unknown

_1573289139.unknown

_1573289136.unknown

_1573289137.unknown

_1573289135.unknown

_1573288357.unknown

_1573289130.unknown

_1573289132.unknown

_1573289133.unknown

_1573289131.unknown

_1573288572.unknown

_1573289129.unknown

_1573288523.unknown

_1573282574.unknown

_1573285132.unknown

_1573285149.unknown

_1573285112.unknown

_1573282477.unknown

_1573282563.unknown

_1573282284.unknown

_1573275492.unknown

_1573275715.unknown

_1573282225.unknown

_1573282245.unknown

_1573275729.unknown

_1573275665.unknown

_1573275684.unknown

_1573275638.unknown

_1412752499.unknown

_1412752719.unknown

_1412754680.unknown

_1412754982.unknown

_1573275466.unknown

_1412755198.unknown

_1412754785.unknown

_1412754632.unknown

_1412752651.unknown

_1412752657.unknown

_1412752639.unknown

_1412752221.unknown

_1412752343.unknown

_1412752480.unknown

_1412752325.unknown

_1412752211.unknown

